


Helpful Hints


Name 





Atomic Number- It is the # of protons, it determines what the element is

Atomic Mass- # of protons and neutrons

Atomic Mass- # of protons = # of neutrons

Atomic Mass- # of neutrons = # of protons

Atomic Mass = # of protons + # of neutrons

Negative Ion – has more electrons than protons

*   A -2 ion has 2 more electrons than protons


*   If you have an -3 ion that has 10 protons, it will have 13 electrons which is 
    
     three more than the number of protons

Positive Ion – has more protons than electrons

*   A +3 ion has 3 more protons than electrons


*   If you have a +2 ion and it has 15 protons and 13 electrons, it means it will 
 
     have 2 more protons than electrons

Neutral Atoms – have the same number of protons and electrons

*   A Neural atom with 10 protons will have 10 electrons
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	Element
	Atomic #
	Atomic Mass
	# of Protons
	# of Electrons
	# of Neutrons
	Charge

	 
	 
	 
	 
	0
	0
	1

	 
	21
	45
	 
	 
	 
	Neutral

	Na
	 
	 
	 
	11
	12
	 

	 
	 
	238
	92
	 
	 
	Neutral

	C
	 
	14
	 
	 
	 
	-4

	Au
	 
	196
	 
	 
	 
	Neutral

	 
	8
	 
	 
	10
	8
	 

	 
	20
	41
	 
	 
	 
	2

	Cl
	 
	 
	 
	18
	18
	-1

	 
	17
	36
	 
	 
	 
	Neutral

	Al
	 
	27
	 
	13
	 
	 

	 
	2
	4
	 
	 
	 
	Neutral

	Mg
	 
	25
	 
	 
	 
	2

	 
	 
	80
	35
	36
	 
	 

	 
	26
	56
	 
	 
	 
	Neutral

	N 
	 
	 
	 
	8
	7
	 

	 
	 
	237
	92
	92
	 
	 

	 
	 
	 
	11
	 
	11
	1

	He
	 
	5
	 
	2
	 
	Neutral

	Cu
	 
	63
	 
	27
	 
	 

	W
	 
	184
	 
	 
	 
	Neutral

	 
	 
	 
	 
	18
	16
	-3
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Alpha decay: nucleus spontancously emits an alpha particle (symbol: a particle), which is 2 p+ and 2 n (or also
the same as a Helium (He) atom)

Result: atomic number decreases by 2 (lost 2 p+)

Result: atomic mass decreases by 4 (lost 2 p+ and 2n = 4 amu)

Beta decay: neutron in nucleus spontancously emits a beta particle (symbol:  particle), which is essentially an
electron trapped in a neutron. The neutron, therefore, turns itself into a proton.

Result: atomic number increases by 1 (gained 1 p+)

Result: atomic mass stays same (no mass lost or gained: } particle or electrons have no mass)

Beta or electron capture: proton in nucleus captures a beta particle (symbol: p particle), which is essentially an
electron that can become part of a neutron. The proton, therefore, turns itself into a neutron.

Result: atomic number decreases by 1 (lost 1 p+)

Result: atomic mass stays same (no mass lost or gained: } particle or electrons have no mass)

Uranium
238
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Below is the decay series for a Uranium-238 nucleus, showing all of the steps of decay that occur before it

finally reaches a stable state. Fillin all blanks of either the type of decay that occurs to get from one step to
another, or with the name of the isotope produced at a certain step.
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Below is the decay series for a Uranium-238 nucleus, showing all of the steps of decay that occur before it

finally reaches a stable state.
another, or with the name of the isotope produced at a certain step.
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